L.O: To convert unit of

measurement 2




Recap —

5.6kg = g
3.4 kg = g
1760g = kg
7420g = kg
1/10 kg = g

1/5 kg = g

1.7km =

9.12 km =

5465m =

km

100m =

km



Recap —

5.6kg = 5600g
3.4 kg = 3400g

1760g = 1.76kg
7420g = 7.42kg

1/10 kg = 100g
1/5 kg = 200g

1.7km = 1700m
9.12 km =9120m

5465m = 5.465km
100m = 0.1km



L.O: To convert units of measurements

kilo =1000 1 thousand

T[T
| ‘ | Millimetre = 1 thousandth of 1m

milli = 1/1000 1 thousandth

‘ T Millilitre = 1 thousandth of 1L



L.O: To convert units of measurements

. Complete the conversions.
1,000 mm=1m 1,000 ml=11
5000mm=[ |m [ )Iml=3l
50000mm= |m [ Jml=301
500mm= |m 300ml=[ ]I
5500mm=[ |m [ Iml=031

. Complete the missing information

1 1 1
mmm_ mim 100["1"!— mim 1UFT'I— mim

31+§1= ml 2+ ml=2500 ml

. Compare the measurements using <, > or =

21 O 1500 ml 60 | O 6,000 ml
28m O 280 mm 3700 m O 37 mm



